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You have four choices for each sbjective type question as A, B, C and 1. The choice which you think is correct, fill the

Q.No. relevant circle in frant of that question pimber on computerized answer sheel. Use marker or pen to Gl the circles.

AL Catting or filling two or more elreles will result in zero marks in that question. Attempt as pLany questions as given in
abjective type question paper and leave ofher circles blank.
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SECTION -1

-short answers of any EIGHT parts. 16
Nhat are molccular ions? How are they formed?

Yefine empirical formula. [low is it related to molecular formula?

Jefine limiting reactant. How docs it control the yield of product formed?

Jefine chromatography. Give its two applications,

low are coloured impurities remuved from crystals?
Define absolute zero temperature,
Give four applications of plasma.
State Dalton’s law of partial pressure. Give its mathematical form.
Caleulate the numerical value of ideal gas constant "R’ in ST units.
Why is aqueous selution of CuSO. acidic in nature?
State Raoult's law in two different ways.
One molal solution of urca in water is dilute as compared to one molar solution of urea. J ustily il
¢ short answers of any EIGHT parts, 16
Water is liquid at room temperature while H:S is a gas. Comment.

Why the decgy of ice is less than water?

Why heat m&:ﬂmimm of water is greater than CHq ?

How liquid trystals act as wemperature sensor?

How will you prave that cathode rays travel in straight line? ,&'f .
Give reason for the production of positive rays. 5
Derive de-Broglie equation ). = aﬁh--— : ,',;"-\

Culculate pH of 107* mol - dm™® of HCY.

W S
Give two defeets in Rutherford atomic model. \\}"
Prove that pK, + pKy = 14 4t 25°C. - o

Rate of reaction is an ever changing paramueter.
llow does surface area effect the rate of reaction?

' o
te short answers of any SIX parts. 0 12

Why atomic radius is greater than cationic radius?
Ilow ionization encrgy varies in periodic table?
0, molecule is paramagnetic. Explain. &
Molecular orbital theory is superior to valence bond theory. Comment. o

Prave that AR = gy \

Define heat and work.

How is voltaic cell represented?
1 Deline standard electrode potential.

Write chemical reactions taking place in NICAD cell

e

T SECTION — 11 __ Auempt any THREE Ggéstions. Each question carcies O marks,

Jefine yield. How do we caleulate the pereen d'0F chemical reaction? Also mention the

actors which are responsible for low yieldf : i

Yeline hvdrogen bonding. Give itgth UGHER 04

Assuming NH; gas to be ideal. C; Le ass in grams iT 1.00 dm” of NI is enclosed ina

sontainer at 30°C and 1000 m 04

How charge on clectron be K by famous Millikan's oil drop experiment? 04

Define ionization ctors do aftect it? 04

State first law of't ynamics, Write its mathematical expression. Prove that 8 = up 04

What is the percentageionization of acetic acid in a solution in which 0.1 mol of it has heen dissolved

per dm* of the solution.” (Ka = L85=107%) 04

Discuss four physical methods to determine the rate of reaction. 04

Define solubility curve, Explain different types of solubility curves with the help of graphs. 04
f 04

yExplain voltaic cell with the heip of diagram and also discuss its working,
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